ASH-111/Geography/CC-6/19
Semester (Honours) Examination, 2019 (CBCS)
Subject : Geography
Paper : CC-6
(Statistical Methods in Geography)

B.A./B.Sc. 3rd

Time: 2 Hours Full Marks: 40
The figures in the margin indicate full marks.

Candidates are required 1o give their answers in their own words

as far as practicable.
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(Short Type)

1. Answer any five questions from the following: 2%5=10

S5q eiofil (A (@ A Al dvid Tad e 3
(a) Differentiate between discrete and continuous data.
Rt w1 @ SRz oA Tug Ay frmed wo
(b) What do you mean by Nominal Data?
A Ol 9E e B I
(c) Define Quota Sampling.
i1 fefes FAABIEE K WS |
(d) Mention two uses of Ogive.
TR sARERA @R 40 TR ETRI
(e) “Median is known as positional average” — Explain.
‘Tl T SRS ofCe S — g S|
(f) Mention four demerits of ‘use of Range’.
ori Rgfe el BRI SEfard B |
(2) What do you mean by Rank Correlation?
TSl MeeAfes Fe0e IR 2

(h) What do you mean by Least Square method in regression analysis?
2ot feard =fie <ol srafe e F @?
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(Analytical Type)

2. Answer any nwo questions from the following:

5)(2:10
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(a) Distinguish between classification and tabulation. Draft a form of tabulation to show the
distribution of population according to place (District: Bankura, Birbhum, Purulia), gende;
and literacy status (Data source: Census, 2011). 2+3=5§

AR 8 wRTICR Wy #14 Fmete 7| @36 Fre g Pl st 3@ T

(o=l ¢ qpel, g, FErl) B @R Areaoiy AP G SR 96 o 3
AR (O ¢ Census, 2011) |

(b) Compare the Correlation Model with Regression Model in brief. 2V24215=5
FRCFC ATFE TSR A 2AfSsse e ol |

(c) Differentiate between Discrete and Continuous Data with suitable examples for each.
2V542V5=5
Soie TuiaeTz Rfven © wikften aifrewm =idw oeie |

(d) What is the difference between R? and r? Write the formulae to find out the value of R?
and r. Find out the value of x if the estimated value (¥) is 29.49068, regression coefficient
is 1.85216 and y intercept is 0.14388. 2+2+1=5
R? € r-a3 A1 F? R? 8 937 TN Qg @ @t | a3 7= [ s 1 e
T (Y) T 29.49068, AN @erE =AW 1.85216 3R y intercept =¥ 0.14388 |

(Broad Type)

3. Answer any two questions from the following: 10x2=20

A eale (I T @ v SR Sed vie s

(a) Make a comparison among Mean, Median and Mode.

MAfST o1, TPl IR RANGFE WHA T eHEEE SEoA IR |

“Mean is affected by extreme value” — Explain. There are two branches of a company,
employing 100 and 120 persons respectively. If the arithmetic mean of the monthly salaries
paid by two companies are Rs. 250 and 300 respectively, find the arithmetic mean of the
salaries of the employees of the companies as a whole. 5+2+3=10
“sifIfes sTe bas = =R Aeife 71 — A 1 | 9T ARSHIT 7it =1 SieR (@A I
100 @R 120 & T fge | T =Nl 4foe @fe e @ IWTE Rs. 250 @R 300
R ANEFO 7o =N fFw gve @omw sififes i To¢
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(b) Mention merits and demerits of Standard Deviation.

(c)

(d)

moﬂwiﬁm\eﬂ‘{ﬁ%ﬁ@@ﬁml‘TTE?{T?WGW?HWW&T%Q&WWM
=l |

Differentiate between Mean Deviation and Standard Deviation.

Coefficient of Variation (CV) of two series are 60% and 80%. The standard deviations are

20 are 16 respectively. What are their arithmetic means? S+2+3=10

76 #(3% wraa Rpfe edrs 201 60% a3 80% | 92 4fba s ey 2 qwm 20 qag
161 © gibg afafss sre i =

Discuss on the merits and demerits of coefficient of variation with suitable example.

S5+5=10
T Srizaorrz Rpfen weitea Rl ¢ wrifiium o0 ST 6@ |

Mention the procedure of stratified and Systematic Random Sampling.
BAIg© TG TN 5T @3 RfeTE TN 5T ciwfen Rifew dsieR @l |

Define statistical error of sampling from the given Random Numbers find out 6 samples
of students out of 99 students (Roll No. 1 to 99).

mmwﬁmwm%@ﬁmam?mﬂww{wméﬁ?mﬂwﬁw,
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Random Numbers

1236, 6104, 3982, 6443. 5+2+3=1(




